Calculate Percents of Decimals

9.16 x 20% =

4.73 x 10% =

5.53 x 80% =

3.66 x 70% =

9.04 x 60% =

4.38 X 90% =

4.04 x 10% =

0.75 x 90% =

2.39 x 80% =

5.83 x 10% =

Date: Score:

2.64 x30% =

7.93 x 80% =

3.2 x90% =

3.61 x 80% =

8.12 x70% =

6.54 < 50% =

6.75 x 90% =

5.66 x 80% =

6.4 < 60% =

4.52 x 90% =
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Calculate Percents of Decimals

Name:

9.16 x20% = 1.832

4.73 x 10% = 0.473

5.53 x 80% = 4.424

3.66 x 70% = 2.562

9.04 x 60% = 5.424

4.38 X 90% = 3.942

4.04 x 10% = 0.404

0.75 x90% = 0.675

2.39 x80% = 1912

5.83 x 10% = 0.583

Date:

2.64 x30% = 0.792

7.93 x 80% = 6.344

3.2 x90% = 2.88

3.61 x 80% = 2.888

8.12 x70% = 5.684

6.54 x 50% = 3.27

6.75 x 90% = 6.075

5.66 x 80% = 4.528

6.4 x 60% = 3.84

4.52 x 90% = 4.068
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